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 1.    The test is of 70 Minutes duration and this Test Booklet contains 60 questions. 
         Each  question carries 4 marks. For each correct response, the candidate will  
          get 4 marks. For each incorrect  response, one mark will be deducted from the  
          total scores. The maximum marks are 240. 
 2.     Use Blue/Black Ball Point Pen only for writing particulars on this page/ 
           marking   responses. 
 3.     Rough work is to be done on the space provided for this purpose in the Test  
           Booklet only. 
  4.    On completion of the test, the candidate must hand over the Answer Sheet to the 
         Invigilator before leaving the Room/Hall. The candidates are allowed to take away  
        This Test Booklet with them. 
  5.  The candidates should ensure that the Answer Sheet is not folded. Do not make  
        any   stray marks on the Answer Sheet. Do not write your Roll No. and name 
       anywhere   else except in the specified  space in the Test Booklet/Answer Sheet. 
  6.   Use of white fluid for correction is not permissible on the Answer Sheet.  
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  Part – I (Physics) 

1. Evaluate it  
GMm

𝑥2

∞

𝑅
.dx 

(A) −
GMm

R
     (B) 0     (C) ∞    (D) 

GMm

R
 

2. Evaluate it  
1

(1+3𝑥)

2

0
 .dx 

(A) −
1

3
 loge 7    (B) 3 loge 5      

(C) 
1

3
 loge 7       (D) −3 loge 7 

 

 

 

 

 

 

 

 

 

 

1. gy dhft,  
GMm

𝑥2

∞

𝑅
.dx 

(A) −
GMm

R
     (B) 0     (C) ∞    (D) 

GMm

R
 

2. gy dhft,  
1

(1+3𝑥)

2

0
 .dx 

(A) −
1

3
 loge 7    (B) 3 loge 5      

(C) 
1

3
 loge 7        (D) −3 loge 7 
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3. Evaluate is  𝑥cos𝑥d𝑥 

(A) xsinx + cosx + c 

(B) xcosx + sinx + c 

(C) cosx + sinx + c 

(D) x[sinx + cosx] + c 

4. If x = at
3
 and y = bt

2
, find 

dy

d𝑥
 

(A) 
2b

at
     (B) 

3b

4at
    (C) 

2b

3at
      (D) 

b

3at
 

5. If x = acosθ and y = bsinθ, find 
dy

d𝑥
 

(A) 
b

a
 cotθ            (B) −

b

a
 cotθ 

(C) 
a

b
 cosθ            (D) 

a

b
 cotθ 

6. The mass of a body is 2.5 kg. It is in 

motion and it’s velocity v after time t is 

v = 
t3

3
 + 

t2

2
 + 1 calculate the force acting 

on the body at the time t = 3 seconds. 

(A) 20N    (B) 10N    (C) 50N  (D) 30N 

7. A particle starts from rest with a 

uniform acceleration. Its displacement 

x after t seconds is given in metres by 

the relation x = 5 + 6t + 7t
2
. What is the 

magnitude of its velocity at t = 3 

seconds. 

(A) 24m/s               (C) 50m/s 

(B) 45m/s               (D) 48m/s 

 

 

 

 

 

 

 

 

 

 

3. gy dhft,  𝑥cos𝑥d𝑥 

(A) xsinx + cosx + c 

(B) xcosx + sinx + c 

(C) cosx + sinx + c 

(D) x[sinx + cosx] + c 

4. ;fn x = at
3
 rFkk y = bt

2
, 

dy

d𝑥
 dk eku gksxk %& 

(A) 
2b

at
     (B) 

3b

4at
    (C) 

2b

3at
      (D) 

b

3at
 

5. ;fn x = acosθ rFkk y = bsinθ, 
dy

d𝑥
 dk eku 

gksxk %& 

(A) 
b

a
 cotθ            (B) −

b

a
 cotθ 

(C) 
a

b
 cosθ            (D) 

a

b
 cotθ 

6. ,d fi.M dk nzO;eku 2.5 kg gS rFkk t le; 

i’pkr bldk osx v = 
t3

3
 + 

t2

2
 + 1 le; t = 3 

lSd.M ij fi.M ij dk;Zjr cy dk eku D;k 

gksxk \  

(A) 20N    (B) 10N    (C) 50N  (D) 30N 

7. ,d d.k fojkekoLFkk ls ,d leku Roj.k ls 

pyuk izkjEHk djrk gSA t lSd.M ds ckn mldk 

foLFkkiu x = 5 + 6t + 7t
2
 ¼ehVj esa½ gSA t = 3 

lSd.M ij d.k ds osx dk ifjek.k gksxk \  

(A) 24m/s               (B) 50m/s 

(C) 45m/s               (D) 48m/s 
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8. The numerical ratio of distance to the 

displacement covered is always. 

(A) Less than one        (B) Equal to one 

(C) Equat to or greater than one      

(D) Equal to or less than one 

9. Which of the following equation is 

incorrect ? 

(A) v = u + at       (C) s = ut + 
1

2
 at

2
 

(B) v2 + u2 = 2as  (D) Dn = u + 
a

2
 (2n – 1)  

10. The unit of position is :- 

(A) meter                  (B) meter/second 

(C) meter/(second)
2
 (D) meter x second 

11. A particle moves along a semi circle of 

radius 3m in 5 second. The average 

velocity of the particle is :- 

(A) 4π m/s       (B) 1.2π m/s 

          (C) 1.2 m/s      (D) 4 m/s 

12. The unit of instantaneous velocity is :- 

(A) meter                  (B) meter/second 

         (C) meter x second  (D) meter/(second)
2
 

13. A car travels along a straight road 

100m north then 30 m south. What will 

be the distance and displacement of the 

car ? 

(A) 130m, 70m         (B) 70m, 120m 

(C) 130m, -70m        (D) 100, -70m 

 

 

 

 

 

 

 

 

 

 

 

8. r; fd;s x;s nwjh ,oa foLFkkiu ds vuqikr dk 

vkafdd eku ges’kk gksrk gS %& 

(A) ,d ls de        (B) ,d 

(C) ,d ds cjkcj ;k ,d ls vf/kd 

(D) ,d ds cjkcj ;k ,d ls de 

9. fuEufyf[kr esa ls dkSulh lehdj.k vlR; gS \ 

(A) v = u + at       (B) s = ut + 
1

2
 at

2
 

(C) v2 + u2 = 2as  (D) Dn = u + 
a

2
 (2n – 1)  

10. fLFkfr dk ek=d gS %& 

(A) ehVj                  (B) eh-@lS- 

(C) eh-@lS-
2
             (D) eh- x lS- 

11. ,d d.k 3 ehVj f=T;k ds v)Zo`Ùk esa 5 lSd.M 

esa ?kwerk gS d.k dk vkSlr osx gksxk %& 

(A) 4π m/s       (B) 1.2π m/s 

          (C) 1.2 m/s      (D) 4 m/s 

12. rkR{kf.kd osx dk ek=d gS %& 

(A) ehVj  

(B) eh-@lS- 

          (C) eh- x lS- 

          (D) eh-@lS-
2
 

13. ,d dkj lh/ks iFk ij 100 ehVj mÙkj esa 

rRi’pkr~ 30 ehVj nf{k.k esa pyrk gS rks dkj 

}kjk r; dh xbZ nwjh o foLFkkiu dk eku D;k gS 

\  

(A) 130m, 70m         (B) 70m, 120m 

(C) 130m, -70m        (D) 100, -70m 
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14. Which among the following statement 

is correct ? 

(A) The unit of average acceleration is 

m/s
2
                

(B) Acceleration is a scalar quantity. 

(C) The unit of speed is metre.  

(D) Velocity is a scalar quantity. 

15. An object is moving with uniform 

acceleration. Its velocity after 4 second 

is 20m/s and after 7 second is 29 m/s. 

What will be the distance travelled by 

the object in 10
th

 second ? 

(A) 49.5m          (B) 36.5m 

(C) 75.5m          (D) 30.5m 

16. The velocity – time graph of a body 

moving in a straight line is shown in 

fig. What is the distance travelled by 

the body in 6 seconds. 

 
(A) 16m         (B) 0 

(C) 8m           (D) 2m 

 

 

 

 

 

 

 

 

 

 

 

 

 

14. fuEufyf[kr esa ls dkSulk dFku lR; gS \ 

(A) rkR{kf.kd Roj.k dk ek=d ehVj@lSd.M
2
 

gSA 

(B) Roj.k ,d vfn’k jkf’k gSA 

(C) pky dk ek=d ehVj gSA 

(D) osx ,d vfn’k jkf’k gSA 

15. ,d oLrq ,d leku Roj.k ls py jgh gS 4 

lSd.M ds ckn bldk osx 20 eh-@lS- rFkk 7 

lSd.M ds ckj bldk osx 29 eh-@lS- gS rks 10 

osa lSd.M esa oLrq }kjk r; dh xbZ nwjh D;k gksxh 

\ 

(A) 49.5m           

(B) 36.5m 

(C) 75.5m           

(D) 30.5m 

16. ,d lh/kh js[kk esa xfreku fi.M dk osx & le; 

xzkQ fp= esa n’kkZ;k x;k gSA 6 lSd.M esa fi.M 

}kjk r; dh xbZ nwjh dk eku fdruk gS \ 

 
(A) 16m         (B) 0 

(C) 8m           (D) 2m 

 

 

 

 

 

 

 

 

 

 

 

Rough Work 
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17. A ball is thrown vertically upwards 

with a velocity of 20m/s from the top 

of a multi – storey building. The height 

of the point from where the ball is 

thrown is 25m from the ground. How 

high the ball will rise ? Take g = 10 

m/s
2
. 

(A) 20 m        (B) 25 m     

          (C) 5m           (D) 15m 

18. A body travels a distance of 2 m in 2 

seconds and 2.2m in next 4 seconds. 

What will be the velocity of the body at 

the end of 5
th
 second from the start ? 

(A) 0.10sec.     (B) 0.40sec. 

(C) 0.30sec.     (D) 0.75sec. 

19. The position of an object moving along 

x – axis is given by x = a + bt
2
, where a 

= 8.5m and b = 2.5m/s
2
 and t is 

measured in seconds. What is the 

velocity at t = 2 second ? 

(A) 20m/s          (B) 5m/s 

(C) 8.5m/s         (D) 10m/s 

20. A ball is released from the top of a 

tower of height h meter. It takes T 

seconds to reach the ground. What is 

the position of the ball in T/3 seconds 

from ground ? 

(A) 
h

9
       (B) 

3h

9
    (C) 

8h

9
     (D) 

2h

5
 

 

 

 

 

 

 
 

 

17. ,d cgqeaftyk bekjr ds 'kh"kZ esa 20 eh-@lS- ds 

osx ls ,d xsan dks m?okZ/kj Åij dh vksj Qsadk 

tkrk gS] ftl fcUnq ls xsan Qsadh tkrh gS mldh 

Å¡pkbZ tehu ls 25 ehVj gS xsan fdruh Å¡ph 

tk;sxhA (g = 10m/s
2
) 

(A) 20 m        (B) 25 m     

          (C) 5m           (D) 15m 

18. ,d fi.M 2 eh- dh nwjh 2 lSd.M esa rFkk 2-2 

ehVj vxys 4 lSd.M esa r; djrk gS rks izkjEHk 

ls 5 osa lSd.M ds var esa fi.M dk osx D;k gksxk 

\  

(A) 0.10sec.      

(B) 0.40sec. 

(C) 0.30sec.      

(D) 0.75sec. 

19. x – v{k ds vuqfn’k xfreku oLrq dh fLFkfr x = 

a + bt
2
 nh xbZ gS tgk¡ a = 8.5m rFkk b = 

2.5m/s
2
 rFkk le; (t) lSd.M esa gS t = 2 

lSd.M ij osx fdruk gksxk \ 

(A) 20m/s          (B) 5m/s 

(C) 8.5m/s         (D) 10m/s 

20. ,d xsan dks h ehVj dh Å¡pkbZ ds ,d Vkoj ds 

Åij ls NksMk tkrk gS ;g xsan tehu rd 

igq¡pus esa T lSd.M dk le; yxrk gSA T/3 

lSd.M ckn tehu ls xsan dh fLFkfr D;k gS \ 

(A) 
h

9
                  (B) 

3h

9
     

(C) 
8h

9
                (D) 

2h

5
 

 

Rough Work 
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Part – II (CHEMISTRY) 
21. Glucose Contains :- 

(A) 20% carbon by mass          

(B) 40% carbon by mass 

(C) 50% carbon by mass         

(D) 60% carbon by mass 

22. Correct scientific notation for 232.508 is 

:- 

(A) 2.32508 x 10
2
     (B) 2.32508 x 10

-2
 

           (C) 0.232508 x 10
3
  (D) 0.232508 x 10

-3
 

23. Which of the following values possess 

maximum number of significant zeros ? 

(A) 0.00007      (B) 0.0070         

(C) 20.000        (D) 0.700 

24. Mass of single carbon – 12 atom is 

equal to :- 

(A) 12amu        (B) 12g          

(C) 
1

NA
amu       (D) 1.00 x 10

-27kg
 

25. Which of the following is not a derived 

unit in SI system ? 

(A) Coulamb        (B) Ampere 

(C) Joule              (D) Pascal 

26. The symbol of SI unit of amount of 

substance is :- 

(A) g         (B) mol    (C) mg      (D) k 

27. 45
0
C corresponds to which value in 

0
F ? 

(A) 45      (B) 90    (C) 113       (D) 145 

 

 

 

 

 

 

 

 

 

21. Xywdkst esa nzO;eku dh n`f"V ls gksrk gS %& 

(A) 20% dkcZu       (B) 40% dkcZu 

(C) 50% dkcZu       (D) 60% dkcZu 

22. Lka[;k 232.508 ds fy, lgh oSKkfud ladsru 

gS %& 

(A) 2.32508 x 10
2
      

(B) 2.32508 x 10
-2 

(C) 0.232508 x 10
3
   

(D) 0.232508 x 10
-3

  

23. fuEu esa ls fdl eku esa lkFkZd 'kwU;ksa dh la[;k 

vf/kdre gS %& 

(A) 0.00007      (B) 0.0070         

(C) 20.000        (D) 0.700 

24. dkcZu – 12 ds ,dy ijek.kq dk nzO;eku gS %& 

(A) 12amu        

(B) 12g          

(C) 
1

NA
amu        

(D) 1.00 x 10
-27kg

 

25. fuEu esa ls dkSulk SI i)fr esa O;qRiUu ek=d 

ugha gS \ 

(A) dwykWe         (B) ,fEi;j 

(C) twy            (D) ikLdy 

26. inkFkZ dh ek=k ds SI ek=d dk izrhd gS %& 

(A) g         (B) mol    (C) mg      (D) k 

27. 0F esa 45
0
C dk eku D;k gS \ 

(A) 45      (B) 90    (C) 113      (D) 145 

 

 

 

 

 

 

 

 

 

Rough Work 
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28. Ratio of molecular masses of methane 

(CH4) and Ethane (C2H6) is :- 

(A) 4 : 15  (B) 4 : 30 (C) 7 : 20 (D) 8 : 15 

29. Which concentration term is 

independent of temperature ? 

(A) molarity            (B) Normality 

(C) Mole Fraction  (D) % mass/volume 

30. If the molarity of 200 ml solution of 

glucose (C6H12O6) is 0.2, then the mass 

of glucose present in the solution is :- 

(A) 18g   (B) 7.2g  (C) 12.4g  (D) 36.2g 

31. 6.022 x 10
24

 molecule of N2 at NTP will 

occupy a volume of :- 

(A) 22.4 lit.       (B) 224 lit. 

(C) 2.24 lit.       (D) 112 lit. 

32. Which one among the following 

contains maximum number of atoms ? 

(A) 1g H2         (B) 8g O2 

(C) 7g N2         (D) 13g C 

33. Empirical formula of CH3COOH is :- 

(A) CHO         (B) CH2O2       

(C) CH2O        (D) CHO2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

28. esFksu (CH4) rFkk ,Fksu (C2H6) ds vkf.od 

nzO;eku dk vuqikr gS %& 

(A) 4 : 15           (B) 4 : 30   

(C) 7 : 20           (D) 8 : 15 

29. lkUnzrk dk dkSulk in rki ij fuHkZj ugha 

djrk \ 

(A) eksyjrk            (B) ukWeZyrk 

(C) eksy izHkkt      (D) % nzO;eku@vk;ru 

30. ;fn XywdkWt(C6H12O6) ds 200 ml foy;u 

dh eksyjrk 0-2 gks rks foy;u esa mifLFkr 

XywdkWt dk nzO;eku gSA 

(A) 18g  (B) 7.2g (C) 12.4g  (D) 36.2g 

31. NTP ij N2 ds 6.022 x 10
24

 v.kqvksa dk 

vk;ru gksxk %& 

(A) 22.4 lit.       (B) 224 lit. 

(C) 2.24 lit.       (D) 112 lit. 

32. fuEu esa ls fdlesa ijek.kqvksa dh la[;k vf/kdre 

gS \ 

(A) 1g H2         (B) 8g O2 

(C) 7g N2         (D) 13g C 

33. CH3COOH dk ewykuqikrh lw= gS %& 

(A) CHO         (B) CH2O2       

(C) CH2O        (D) CHO2 
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34. Mass of Carbon present in 513g of 

C12H22O11 is :- 

(A) 216g  (B) 188g   (C) 287g  (D) 232g 

35. The mass of NH3 produced on reacting 

28g of N2 with 4g of H2 is :- 

(A) 36.0g                (B) 38.23g  

(C) 22.67g              (D) 32.31g 

36. The volume of CO2 evolved at STP on 

heating 50 gm CaCO3. 

(A) 22.4 lit.             (B) 11.2 lit. 

(C) 5.6 lit.               (D) 24.4 lit. 

37. Limiting reagent in a chemical reaction 

is that reactant which :- 

(A) Left some amount unreacted after 

the completion of reaction.  

(B) Does not react in the reaction. 

(C) Reacts completely in the reaction  

(D) All of these 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

34.   513g C12H22O11 esa mifLFkr dkcZu dk 

nzO;eku gS %& 

(A) 216g  (B) 188g  (C) 287g  (D) 232g 

35.   28g N2 ,oa 4g H2 fd fØ;k dj izkIr NH3 

dk nzO;eku gS %& 

(A) 36.0g                (B) 38.23g  

(C) 22.67g              (D) 32.31g 

36.   50 gm CaCO3 dks xeZ djus ij STP ij 

izkIr CO2 dk vk;ru gS %& 

(A) 22.4 lit.             (B) 11.2 lit. 

(C) 5.6 lit.               (D) 24.4 lit. 

37. Lkhekar vfHkdeZd ,d jklk;fud vfHkfØ;k esa 

og vfHkdkjd gksrk gS %& 

(A) ftldh dqN vfHkfØ;kxr ek=k vfHk dh 

iw.kZrk ds ckn 'ks"k jg tkrh gSA 

(B) tks vfHkfØ;k esa fØ;k ugha djrkA 

(C) tks vfHkfØ;k esa iw.kZr% fØ;k dj ysrk gSA 

(D) mijksDr lHkh 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Rough Work 



 

SHIVALIK SCHOOL, BHARTHARI ROAD, BEHROR MOB- 01494 – 294297, 9784067297, 9602684259   www.shivalikschool.co.in  Page 10 
 

Note :- In the following question (18-20) as 

statement of assertion (A) is followed by a 

statement of reason (R). 

(1) If both Assertion & Reason are true 

and the reason is the correct explanation 

of the assertion, then mark (A)  

(2) If both Assertion & Reason are true 

but the is not the correct explanation of 

the assertion, then mark (B) 

(3) If assertion is true statement but 

Reason is False then mark (C) 

(4) If both assertion and Reason are 

false statements then mark (D) 

38. A :- Mass of a substance is the amount 

of matter present in it. 

R :- Mass of a substance vary from one 

place to another due to change in 

gravity. 

39. A :- Solids have definite volume and 

definite shape. 

R :- Liquids have definite volume. 

40. A :- One amu mass is equal to 1.66 x  

10
-27

 kg. 

R :- One amu is the actual mass of one 

atom of C – 12. 

 

 

 

 

 

 

 

 

 

 
 

uksV %& uhps fn;s x;s iz'uksa (18 & 20) esa dFku (A) 

ds fy, dkj.k (R) fn;k x;k gS %& 

(1) ;fn dFku ,oa dkj.k nksuksa lgh gks rFkk 

dkj.k dFku dk lgh Li"Vhdj.k gks rks fodYi  

(A) dks fpfUgr dhft,A 

(2) ;fn dFku ,oa dkj.k nksuksa lgh gS ,oa 

dkj.k dFku dk lgh Li"Vhdj.k ugha gS rks 

fodYi (B) dks fpfUgr dhft,A 

(3) ;fn dFku lgh gS ijUrq dkj.k xyr gS rks 

fodYi (C) dks fpfUgr dhft,A 

(4) ;fn dFku rFkk dkj.k nksuksa xyr gS rks 

fodYi (D) dks fpfUgr dhft,A 

38. A :- ,d inkFkZ dk nzO;eku] blesa mifLFkr 

inkFkZ dh ek=k gksrh gSA 

R :- ,d inkFkZ dk nzO;eku xq:Ro esa ifjorZu 

ds dkj.k ,d LFkku ls nwljs LFkku ij ifjofrZr 

gks tkrk gSA 

39. A :- Bkslksa dk vk;ru rFkk vkd`fr fuf’pr 

gksrh gSA 

R :- nzoksa dk vk;ru fuf’pr gksrk gSA 

40. A :- ,d amu nzO;eku 1.66 x 10
-27

 kg ds 

cjkcj gksrk gSA 

R :- ,d amu, C – 12ds ,d ijek.kq dk 

okLrfod nzO;eku gksrk gSA 
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Part – III (Mathematics) 

41. If B = {x : x = 
𝟐𝐧−𝟏

𝐧+ 𝟐
 , nϵW and n < 4 }, 

then B can be written as :- 

(A) {6, 
𝟏

𝟑
 , 

𝟐

𝟒
 , −

𝟏

𝟐
 }     (B) { −

𝟏

𝟐
 ,  

𝟏

𝟑
 , 

𝟑

𝟒
 , 1} 

(C) {3, −
𝟏

𝟐
 , 

𝟑

𝟒
 , 

𝟔

𝟓
 }     (D) { 

𝟏

𝟓
 , 

𝟏

𝟑
 , −

𝟏

𝟐
 , 1} 

42. Let A = {x : x is a positive multiple of 2 

less then 20, xϵN }, then n (A) is :- 

(A) 7       (B) 8       (C) 6      (D) 9 

43. Which of the following two sets are 

equal ? 

(A) A = { 1, 2 } and B = { 1 }          

(B) A = { 1, 2 } and B = { 1, 2, 3 }  

(C) A = { 1, 2, 3 } and B = { 2, 1, 3 }  

(D) A = { 1, 2, 4 } and B = { 2, 1, 3 }  

44. Which of the following collections are 

sets ? 

(A) The collections of all the days of a 

week.  

(B) A collection of 11 best hockey player 

of India. 

(C) The collection of all rich person of 

Delhi.  

(D) A collection of most dangerous 

animals of India. 

45. If A = { 1, 2, 3, 4, 5 }, then the number of 

proper subset of A is :- 

(A) 25      (B) 31       (C) 32        (D) 125 

 

 

 

 

 

 

 

 

41. ;fn B = {x : x = 
𝟐𝐧−𝟏

𝐧+ 𝟐
 , nϵW vkSj n < 4 

}, rc B dks fuEu izdkj ls fy[k ldrs gSa %& 

(A) {6, 
𝟏

𝟑
 , 

𝟐

𝟒
 , −

𝟏

𝟐
 }     

(B) { −
𝟏

𝟐
 ,  

𝟏

𝟑
 , 

𝟑

𝟒
 , 1} 

(C) {3, −
𝟏

𝟐
 , 

𝟑

𝟒
 , 

𝟔

𝟓
 }     

(D) { 
𝟏

𝟓
 , 

𝟏

𝟑
 , −

𝟏

𝟐
 , 1} 

42. ekuk A = {x : x] 20 ls de nks dk xq.kt gS, 

xϵN }, rc n (A) gS :- 

(A) 7       (B) 8       (C) 6      (D) 9 

43. fuEu esa ls dkSuls nks leqPp; leku gS \ 

(A) A = { 1, 2 } vkSj B = { 1 }          

(B) A = { 1, 2 } vkSj B = { 1, 2, 3 }  

(C) A = { 1, 2, 3 } vkSj B = { 2, 1, 3 }  

(D) A = { 1, 2, 4 } vkSj B = { 2, 1, 3 }  

44. fuEu esa ls dkSulk laxzg leqPp gS \ 

(A) ,d lIrkg ds lHkh fnuksa dk laxzg 

(B) Hkkjr ds loZJs"B 11 gkWdh f[kykfM;ksa dk 

laxzgA 

(C) fnYyh ds lHkh vehj O;fDr;ksa dk laxzg 

(D) Hkkjr ds lcls [krjukd tkuojksa dk 

laxzg 

45. ;fn A = { 1, 2, 3, 4, 5 }, rc leqPp; A ds 

mfpr mileqPp;ksa dh la[;k gS %& 

(A) 25                (B) 31        

(B) 32                (D) 125 
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46. Number of element in powerset of a set 

of order three is :- 

(A) 3      (B) 6       (C) 8      (D) 9 

47. Which of the following statement is true 

? 

(A) ϕ ϵ ϕ              (B) ϕ ϵ { ϕ } 

(C) {ϕ } ϵ {ϕ }      (D) O ϵ ϕ 

48. Two finite sets have m and n elements. 

The total number of subsets of the first 

set is 56 more than the total number of 

subsets of the second set. The values of 

m and n are respectively :- 

(A) 6, 3             (B) 8, 5 

(C) 4, 1             (D) None of these 

49. If 𝐥𝐨𝐠𝟕 𝟐 = m then value of 𝐥𝐨𝐠𝟒𝟗 𝟐𝟖 is :- 

(A) 2 ( 1 + 2m )     (B) ½ ( 1 + 2m ) 

(C) 
𝟐

𝟏+𝟐𝐦
               (D) 1 + m 

50.  If 𝐥𝐨𝐠𝟏𝟎 𝟓 + 𝐥𝐨𝐠𝟏𝟎(𝟓𝒙 + 𝟏) = 𝐥𝐨𝐠𝟏𝟎 𝒙 +

𝟓 + 1, then value of x is :- 

(A) 3      (B) 6       (C) 9       (D) 10 

51. Number 𝐥𝐨𝐠𝟐 𝟕 is :- 

(A) Integer        (B) Rational 

(C) Irrational   (D) Prime 

 

 

 

 

 

 

 

 

 

 

 

 

 

46. 3 dksfV ds ,d leqPp; ds ?kkr leqPp; esa 

vo;oksa dh la[;k gS %& 

(A) 3      (B) 6       (C) 8      (D) 9 

47. fuEu esa ls dkSulk dFku lR; gS \ 

(A) ϕ ϵ ϕ              (B) ϕ ϵ { ϕ } 

(C) {ϕ } ϵ {ϕ }      (D) O ϵ ϕ 

48. nks ifjfer leqPp; esa m rFkk n vo;o gSaA 

;fn ,d leqPp; ds dqy mileqPp;ksa dh 

la[;k] nwljs leqPp; ds dqy mileqPp;ksa dh 

la[;k ls 56 vf/kd gS] rks m o n ds eku 

Øe’k% gksaxs %& 

(A) 6, 3             (B) 8, 5 

(B) 4, 1             (D) buesa ls dksbZ ugha 

49. ;fn 𝐥𝐨𝐠𝟕 𝟐 = m rc 𝐥𝐨𝐠𝟒𝟗 𝟐𝟖 dk eku gS 

%& 

(A) 2 ( 1 + 2m )      

(B) ½ ( 1 + 2m ) 

(C) 
𝟐

𝟏+𝟐𝐦
                

(D) 1 + m 

50. ;fn 𝐥𝐨𝐠𝟏𝟎 𝟓  + 𝐥𝐨𝐠𝟏𝟎(𝟓𝒙 + 𝟏)  = 

𝐥𝐨𝐠𝟏𝟎 𝒙 + 𝟓  + 1, rks x dk eku gS %& 

(A) 3      (B) 6       (C) 9       (D) 10 

51. Lka[;k 𝐥𝐨𝐠𝟐 𝟕 gS %& 

(A) iw.kkZad           (B) ifjes; 

(C) vifjes;         (D) vHkkT; 
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52. If 3
x
 = 4

x – 1
, then x is :-  

(A) 
𝟐𝐥𝐨𝐠

𝟑𝟐

(𝟐𝐥𝐨𝐠
𝟑𝟒

 – 𝟏)
       (B) 

𝟐

(𝟐 − 𝐥𝐨𝐠
𝟐𝟒

)
 

(C) 
𝟏

(𝟏− 𝐥𝐨𝐠
𝟒𝟑

)
        (D) 

𝟐𝐥𝐨𝐠
𝟐𝟒

(𝟐𝐥𝐨𝐠
𝟒𝟑

 – 𝟏)
 

53. Empty set is a :- 

(A) Finite set       (B) Invalid set         

(C) Infinite set    (D) None of these 

54. The set of intelligent students in a class 

is :- 

(A) A finite set          

(B) A null set  

(C) A singleton set    

(D) Not defined collection 

55. The equation 2x
2
 + kx + 3 = 0 has two 

equal roots, then the value of K is :- 

(A) +  𝟔               (B) + 4    

(C) + 3 𝟐             (D) + 𝟐 𝟔 

56. If α and β are the roots of 4x
2
 + 3x + 7 = 

0 then the value of 
𝟏

𝜶
 + 

𝟏

𝜷
 is :- 

(A) −
𝟑

𝟒
                (B) −

𝟑

𝟕
 

(C) 
𝟑

𝟕
                    (D) 

𝟕

𝟒
 

57. If the roots of px
2
 + qx + 2 = 0 are 

reciprocal of each other, then :- 

(A) p = 0        (B) p = -2          

(C) p = + 2     (D) p = 2 

 

 

 

 

 

 

 

 

 

52. ;fn 3
x
 = 4

x – 1
, rc x gS %& 

(A) 
𝟐𝐥𝐨𝐠

𝟑𝟐

(𝟐𝐥𝐨𝐠
𝟑𝟒

 – 𝟏)
       (B) 

𝟐

(𝟐 − 𝐥𝐨𝐠
𝟐𝟒

)
 

(C) 
𝟏

(𝟏− 𝐥𝐨𝐠
𝟒𝟑

)
        (D) 

𝟐𝐥𝐨𝐠
𝟐𝟒

(𝟐𝐥𝐨𝐠
𝟒𝟑

 – 𝟏)
 

53. fjDr leqPp; gS %& 

(A) ifjfer leqPp;     (B) voS/k leqPp; 

(C) vifjfer leqPp;  (D) buesa ls dksbZ ugha 

54. ,d d{kk ds izfrHkk'kkyh fo|kfFkZ;ksa dk leqPp; 

gS %&  

(A) ,d ifjfer leqPp; 

(B) ,d vfjDr leqPp; 

(C) ,dy leqPp;   

(D) vifjHkkf"kr laxzg 

55. lehdj.k 2x
2
 + kx + 3 = 0 ds nks ewy leku 

gS rc K dk eku gS %& 

(A) +  𝟔               (B) + 4    

(C) + 3 𝟐             (D) + 𝟐 𝟔 

56. ;fn α rFkk β lehdj.k 4x
2
 + 3x + 7 = 0 ds 

ewy gks] rc 
𝟏

𝜶
 + 

𝟏

𝜷
 dk eku gS %& 

(A) −
𝟑

𝟒
                (B) −

𝟑

𝟕
 

(C) 
𝟑

𝟕
                    (D) 

𝟕

𝟒
 

57. ;fn px
2
 + qx + 2 = 0 ds ewy ,d & nwljs 

ds O;qRØe gks] rc %& 

(A) p = 0        (B) p = -2          

(C) p = + 2     (D) p = 2 
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58. A cubic equation 3x
3
 – 5x

2
 – 7x + 6 = 0 

have three roots a, b, c then value of (ab 

+ bc + ac) is :- 

(A) −
𝟕

𝟑
              (B) 

𝟓

𝟑
     

(C) -2                (D) None of these 

59. Factorisation of 2x
2
 + 3x – 90 is :- 

(A) (x – 6) (2x – 15)   

(B) (x – 6) (2x + 15)  

(C) (x + 6) (2x – 15)    

(D) (x + 6) (2x + 15) 

60. If 
𝐚+𝐛

𝐜
 = 

𝐛+𝐜

𝐚
 = 

𝐜 + 𝐚

𝐛
 = λ, then value of λ is 

:- 

(A)1    (B) 2   (C) 1, 2    (D) none of these 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

58. ,d f=?kkr leh- 3x
3
 – 5x

2
 – 7x + 6 = 0 ds 

rhu ewy a, b, c gS rc (ab + bc + ac) dk 

eku gS %& 

(A) −
𝟕

𝟑
              (B) 

𝟓

𝟑
     

(C) -2                (D) buesa ls dksbZ ugha 

59. 2x
2
 + 3x – 90 ds xq.ku[kaM gS %& 

(A) (x – 6) (2x – 15)   

(B) (x – 6) (2x + 15)  

(C) (x + 6) (2x – 15)    

(D) (x + 6) (2x + 15) 

60. ;fn 
𝐚+𝐛

𝐜
 = 

𝐛+𝐜

𝐚
 = 

𝐜 + 𝐚

𝐛
 = λ, rc λ dk eku gS 

%&  

(A)1 (B) 2  (C) 1, 2 (D) none of these 
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